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Geometry Unit 1 Exam Review
(Chapters P, 1, 2, and. 3)

Lesson 1-1

Find the next two terms in each sequence.

1. 12,17,22.27.32,... 2. LLL L L, ... L,
3. 5000, 1000, 200, 40, . . . 4.1,12,123,1234, .. ,
5.3.0.3,0.03,0.003,. .. 6. 1,4,9.16,25,. .. K
Lessons 1-3 and 1-4
Write true or false. _
18. A, D, F are coplanar. 19. AC and FE are coplanar. AP
20. A, B, E are coplanar. 21. D, A, B, E arc coplanar. 4 ¥ /T\E
2.7C |EF  / 23. plane ABC || planc FDE WO
24. BC and DF are skew lines. 25. AD and EB are skew lines.
26.DE |CF [, 27. D, E, and B are collinear.
28. What is the intersection of plane ABC and plane FAD?
29. Two lines that intersect always intersect in a
30. Two planes that intersect always intersect in a
31. How are parallel lines different than skew lines?
Lessons 1-5 and 1-6 ’7’
32. Name the ray opposite ray CD.___{o\l
M. miBCG = 00, mLGCA éf/ and mZBCA = [.2,0
Gy As

35. ms ACD = 60and mz DCH = 20.Find m£ HCA,

SIS0 Q*ﬁ’ﬁ’i_@ =

32. Algebra‘BC =3y + 2and (D = S5x ~ IO Solve for x. 4 =
bal=5elo —= 81222 A + CF =AF [4F=5)
33, Algebra If AC = 5x — t6and CF = 2x — 4,lhcn Al =

Sx-l6 = 2x-4 — x =12 (4) /6 +‘2(4) t} g

=

@ t o+ 4 4 3\’ ’\"-‘L
36. Algebra In the ﬁgurc at the right, m2 POR = 4x + 47.Find m 2 PQS. — i _T;
P-4+ 3= Us+¥) —» Jx +32= Hy +4) > 3x = =5 [S1* &
37. Algebra Points A, B, and C are collincar with B between A and C. x=5 1 \j,‘w GU:
AB =4y — 1.BC = 2+ 1.and AC = 8x ~ 4.Find AB, BC, Q "
and AC. \ Q\J“ ~
Ao~ \££ D
I [Ab=7] e
ad o3 7



Practice Chapster. Xest Form A
Chupter 1

Use the figure to answer I?;ercises 8-11.
. oy of 06

8. Name threc collinear points. HOD
9. Name four coplanar points. a%f;::

10. Name four noncoplanar points.
Yy

™

11. Find cach intersection.

«—>
a. CD and plane P .

€
b. EF and plane P

—> “—>
¢. AB and CD

d. plane P and point G

ax| —/| = x+7

—
~ . & - —

b. MR|=) )M R P

Use the figure to find each measure in Exercises 17-22.
17.m2408 =5E

19.m2C0D = 3%

21.m/40D = |l

[
[} J

| - L J.
Find the distance between each set of points to the nearest tenth.
30. M(3.2). N(7.9) 31.C(-3,8), D(5.5) 32. R, 12). 5(8,—-6)
- £ 3 (

2

_ , :
33. The coordifrates of he midpoint of AC are (2,~3). The coordinates of A are (0. 5). Find the
coordinates of C. ( \ X :

e
'y I

| i ' '-::
35. Find the midpoint of segment RS if point R has coorfdiﬁ‘a"tes'(' 4,5 ) and point S has coordinates.
(3,-1). ' /



7 ' /

The measure of angle A is 3x + 6 and the measure of angle B is 2x - 1.
- 36. If A and B are complementary, what is the value of x?
37. If A and B are supplementary, what is the value of x?

Lessons 2-1 and 2-2 - XL-- S
X=22/
For Excrcises 1-3, identify the hypothesis and conclusion of each conditional.

3. If lines k and rm are skew, then lines k and m are not perpendicular.

= }iyf’vf/vm .__’-—-"' — C ohelunygn ———— 3

For each of the statements, write the conditional form and then the converse of the

conditional. If the converse is true, combine the statements as a biconditional.
5

§. The number onc is the smallest positive square.

6. Rectangles have four sides.

9, Threce points on the same line are collincar. -

Lesson 2-2
Is each statement a good definition? If not, find a counterexample.
10. A real number is an even number if its last digit is 0, 2,4, 6, or 8.

11. A circle with center O and radius 7 is defined b\ the set of points in a plane a
distance r from the point O. '

12. A plane is defined bv lwo hncs C
13. Segments with the same Ionglh are ?mgrucm

For Exercises 14 and 15, write the two statcments that form cach biconditional. Tell
whether each statement is rrue or false.

14. Lines m and 1 are skew if and only if lines m and 1 do not intersect. -
Fo i rue

lo( ke
False ;:,:I (
15. A person can be president of the United States if and only if the person 1s a
citizen of the United States.
# 7 _-'x}w T)’M
True

Leséon 2-3

Using the statements below, apply the Law of Detachment or the Law of Syllogism
to draw a conclusion.

16. If Jorge can't raise money. he can’t buy a new car. Jorge can't raise money.



17. It Shauna is carly for her mecting, she will gain a promotion. If Shauna wakces
up early, she will be early for her meeting. Shauna wakes up early.

18. If Linda’s band wins the contest, they will win $300. If Linda practices, her band
will win the contest. Linda practices.

19. If Brendan learns the audition song. he will be sclected for the chorus. If

Brendan stays after school to practice, he will learn the audition song. Brendan
stays after school to practice.

For Exercises 20-23, apply the Law of Detachment, the Law of Syllogism, or both
to draw a conclusion. Tell which law(s) you used.

20. If you enjoy all foods, then you like cheese sandwiches. If you like cheese
sandwiches, then you eat bread. Law

I‘F you “J-oy iﬂ// ‘Aodj’ 7l1|¢n ya!l Ca'f &ftal 5 //
y oJrsm
21. If you go to a monster movie, then you will have a nightmare. You go to a
monster movie. Lar
>/ou ui” })m a NQ
h '9 }“h"m Oahc/lmur{”
22. If Catherine is exceeding the speed limit, then she will get a speeding ticket.

Catherine is driving at 80 mi/h. If Catherine is driving at 80 mi‘h, then she i
exceeding the speed it b '( Bot d’:J
64”‘%"‘6 will Ma T"ﬁl’l\j (Li . laws ¢
23. If Carlos has more than $250, then he can aftord the video game he wants.

If Carlos worked more than 20 hours last week, then he has more than $250.
If Carlos works 13 hours this week, then he worked more than 20 hours

fast w"‘,ﬁ'g Ca f/as wfl?s 15 Ar: 'Hu’f weeé [; w/-!:f
fhw can a%d flb Vl. £0 Qe . y " »
For Exercises 19-22, determine whether each statement is a good definition. If it is not,

provide a counterexample.
19. A square has four congruent sides. ¢ ou"ﬁ"*’ a"‘fq‘" K hombus
20. Congruent angles have the same measure. jovo[

21. Supplementary angles are two angles whose measures add up to 180. jovo{

22, A bird is an animal with wings.

bals alse han

wﬂys



Practics.Chapter. Xest. Korm.A
Chapter 2

For each statement, (a) write the converse, and (b) decide whether the converse is true or
false.

1. If a polygon is a triangle, then it has three sides. [/'r ue.
T4 a pohgon has 3 rides Phen it is a Triangle
2. If George lives in Texas, then he lives in the United States.

If Georf.e /.w: n e UJ ‘Hw- AL /-‘wr n TW“J —_ Fa/fé

3. If two angles are vertical angles, then they are congruent.

Tf Juo argles an <opgrast Thon Py are verhioal anghes, = False

For Exercises 14-17, use deductive reasoning to draw any possible conclusions. Write not
possible if you cannot draw any conclusions.

14. If an animal is a snake, then iL is a reptile. “Gordon™ is a reptile.
not poss ] gzg
15. If Susan gets a hit this inning, then we will win. Susan hits a triple.

not- possible.  We da't fnov i e tiple vas fhes inwing.

16. If the bus is late, then we will be late for school. If we are late for school, then we will
receive a tardy penaity. _
y ?_’C ;«L Lw S la& #.” e Ul” receve a fa'dy Pt’lld/)&.

17. If two angles are complementary, then the sum of their measures is 90. Z4 and £B are

complementary. “ﬂu Sum pf [/4 dh/ Zg @ (3 ?Q

18. Rewrite the following biconditional as two conditionals:

A quadrilat 'n?l is « rectangle if and onlv if it has four right angles.

If a quedilaters| s & ro Zg Hew T has ¢ ,,&‘f “'37"’-
It a 1«“6{'5417'?*:/ has 4%‘3&7‘ M,t% bea it is a lufay/c. .

r4

For Exercises 19-22, determine whether each statement is a good definition. If it is not,

rovide a counterexample.
P P : A/,f"ool. A ”“”‘L“
19. A square has four congruent sides.

20. Congruent angles have the same measure. J ood

21. Supplementary angles are two angles whose measures add up to 180. \7 °°J

22. A bird is an animal with wings. ”o.’.- (" OJ

A £l also has winys



Lesson 3-1 ©

Find m£1 and then m£2. Sate the theorems or postulates that justify your
UHAWLTS, Z s
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[R'Ele'l‘ to the diagram at the right. Use the given information to
determine which lines, if any, must be parallel. If any lines are
parallel, use a theorem or postulate to tell why.

6. /9= 214 catﬁ” aw“"v
| 3, 5T
8. 22 issupplementaryto 23, € //d \ \
1\ 5 _ 9\13 <
2\ 6 10\ 14

I

10. mz26 = 60,m/L13 ;2%):/”. So r//S' -

12. /3 issupplemgntary to 1.0,
"9'! ”":M&{}d '!75,3' _.,__3\2_____ a 11&5 A
s

=2

L s1=/9 r//s 4\ 8 12\ 16

9. /7= r10 Ll g -ﬁ%-uwat—% r
P
. 210 2
fd by AZH (n-2)080
Algebra Find the value of each variable. (q_ 2) [ gp
20. 21. 360
| s\ (h-2)[80

B Yo 135° % 1@0‘2
[80-130= 2 Sdoge 1354 dwts to Y
525‘0= bt 340 X 484x-3 445 2130 2+ 10490+ 18=360
0= 7 x ~q9 7/
‘-(-y+57,t+5v: |80 0 Iy + SV=150 ’ Z._jg/_
3 :5% * sz.f.gﬂ



(n -2; (4o

Algebra Find the missing angle measu -1z
° s " Thosle-0
4. /15 5. S5 A\ e bx
- - R [22 =x
X 1259 (x=6) 7
(0= 125 +25 + 2% XX

no.= 2x
= X
te@s—}ﬁ’

Write an equatlon in point-slope form of the line that contains the given points.

~ ~
. - | I niay "
S E&\Nl'-:
r T nis R
W
"R,g

X ¥y oy [+ [ 2
26. A(4 2) B(6 ~?) 27. C(—l -1, D(], 1) Mms —— = —
3 2 Mﬂ“}r T --{ 2
- - + - -—‘ - =
_ﬂ." Y 3=-3(x ‘) y I"/(x-l) m={
=3 - -
Write an equatmn in slope-intercept fgrg of the line through the gwen points.
Xy x ¥y
30. H2 7). 5(2301) 3 M(-2.4,NG.-8)  Y-$=1% x+2)
-7 -8-¢
17 -6 m
h-~3_2 7 C’C 2) = S+ )/.,l/;- ;Qx —.‘Zﬁ
m—:—‘- y..?:-'x"'— h=-ll . "'7'"_ k7‘\
-‘5 r 6— \ls T { - -;1.2. + ‘F
Lessons 3-6 and 3-7 T R——
Graph each pair of lines and state whether they are para!lel perpendlcul,ar, or
neither. Explain. ?l?, reciprrcal
13y-x=7 9 36. v ,;4,1' + 2
YERK )

e,

b & b

?.




" \CJWitho'ut graphing, tell whether the lines are paraliel, perpendicular, or neither,
So ¢o¢ Explain.
: . =25 m
Y \ger B2 S V=355 39y - "X 47 40.5¢ - 3v -0 Y=
SWL S¢ = 10v =30, 1, -3 x—-2v=28§ yzzx-é‘ y=3x +2

Wity

X

Y=3X
Neither P 67%/4‘4«&,« WWM Ne/
Practice Chapter. Test e EOEILA
Chapter 3

Find m£1 and m/2. State the theorems or postulates that justify your answers.

m[2=5%'
by ATA

mll=]2§
by ss¥
12.

m(.l— Jos

E.or

“Reibar —— R T Sides ot Anole Sum | ONE 3
.‘Rg.&sg}""{g‘gg}:ﬁ;ﬁiq AT '-'-';f-l!,'-u- i o i e T =T

[ Exterior Angle Sum [ ONE exteriorangle

Pentagon | s | SYp Ls=yp9 | 3¢0 5= 72
Octagon g [0 8= L3S 360 = 4<
Decagon | Jp | W40 . o= J4¢ | 340 o= 3(
Dodecagon | |9 [$00 -1]22 150 360 th= 30

24-gon | 24 | 390 (S| 360 1= 2013

100-gon | /00 | [7(40 1764 | 340 3.¢
(h-2) 180 !

Write the equation of each line described.

{,

32. The line is perpendlcu]ar toy=2x+17and contams (8 -

:"i f>/+l——/ (X 3>

— — —



